Vectors and Scalars
Science 10 Notes

Scalars
e Ascalar quantity, (also called a SCG)O.( ) only has
mgénﬂ'\_aa_e_. They do not have (h‘(gd}.bﬁ .
e Scalars are always ?os'l#\ua values.
o Examples of scalars are:
distance d = ISem dz 25 fedt
5$ﬂ€(& v= 1 W‘IS
Vectors

e Quantities that include both __ Ai¢ eo\ior\ and maﬁn‘r\ude
are called v edocs or_ NecoY qucm’t\"\'\'es.

\
e Maybe ‘ps'\kyg or nga%-ﬁ\tg,,

o Examples of vectors are:
?osﬂr\owr\ d: om LE]
velocity Uz 95mfs [n]

Time

e Time s a special case, because time never moves backwards and
therefore has no d“’ﬂd\bﬂ.

e Time is important for describing

o Initial time 't Lt is when the event begins
o Final time “‘.f_ is when the event is finished
b‘t o The time interval is the A'rc?e,(enc.e between

&Q;:A and_\niol  times.

o Time interval is calculated as: &-}.: J"-F "{'s

Common Sign Conventions for Vectors

north up +

A ~ ~

west east

A
A J

left right

F 3
Y

south down -
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Scalars, Vectors and Symbols

Name Means Sl Unit
dlshnte. a The length of a path between mgl.e( Chﬂ)
two points.
-
?b‘s'!'ﬁun d A specific point relative to a meter ()

—_ - point of origin
di‘ A d‘F —

(\} a.tzvnen-l' A4 | Straight line distance between
s‘i Y two points (they do not have to meker (_m)

&l = d-.; - di, be the origin)

Lns L When an event occurs sewonds  (5)
L or kg

e ivnyevval | Duration of an event
ab: kg ok [ ov long is $ne event

Example 1

t =4.25 t, =735 di =-12.4m di =+18.9m

Determine At and Ad . Did the object go up or down?
What is the distance traveled? Ad = d-F - d;

Ok: Yo L

(1]

+189 - (-1.%)

s -‘138 - "t.ls -
AL: 3) s Ad: 313w Lwl
Example 2
t. =2.0s At =4.0s di =+2.0m d¢ =-1.0m
Determine t; and Ad . Did the object travel right or left?
What is the distance traveled? Egd : 3m (W) ov -3
Xg: 605 2d = 8'; _ Ei.
= =\ - (-Q_)
Example 3 3 s "'3 ™ l:?»]
At =6.7s t, =735 Ad = 5.4m[z] di =—2.5m

Determine t; and E, . Did the object travel north or south?
~

What is the distance traveled? -
d v -38m [.Nj

L= 0.6s ov
-3.49m

73.9m le
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